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1. a)E H x : . .
bg EXPllal'“ ObJCC“"eS_ of costing and briefly explain Standard cost, Marginal cost and compo
xplain why Costing and Estimation is necessary and with a neat diagram explain how se

product is determined.

2. Determine the material cost for figure shown below if density is 7.009g/cc and material ¢

3. (a) Differentiate ¢

___________

+ 3250

\¢§0|

osting and estimation.

(b) From the following data related to manufacturing a product, calculate profit

4. Explain the following. (i) Assets and liabilities. (

margin. (iv) Curren

5. Total sales of a firm is Rs.6,40,000. It has
current liability of Rs.96,000. Inventory is
be carried out by the firm if inventory turnover happ

nents of cost.
lling price of a

ost is Rs 20/Kg.

earned on each unit.

Raw materials used Rs.40,000/-

Direct wages Rs.24,000/-

Machine hours worked 9,500hrs

Machine hour rate Rs.4 per hour

Office overheads 20% of work cost

Selling overheads Rs.1 per unit |
Units produced 20,000 |
Units sold 18,000 at Rs.10 per unit B

i) Sundry creditors and Sundry

t Ratio and Debt ratio (v) Inventory turnover

a gross profit margin of 15% and
Rs.48000 and cash is Rs.16,

ens 5 times a year

period if opening balance of debtors is Rs.70,000.

6. Kirloskar company has total assets of Rs.8,00,000. 5
direct cost for the year is estimated at Rs.4,80,000 and all other
will be sold to customer at 120% of direct cost. Tax rate is 12%.

assets, Asset turnov

er and Return on equity.

0% of asset is borrowed at
operating expen
Calculate

debtors (iii) Net profit

current ratio is 2. The firm has
000. Determine average inventory to
and determine the average collection

8% rate of interest. The
ses is Rs.80,000. The goods

Net profit margin, Return on
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7. (a) What do you mean b

Y Ratio analysis, list advantages and limitations of the same. oss profit ratio
. rlr)hi)? ala:lce sheet of a company is presented below calculate the (i) current ratio (if) Gross P
(1ii) e. o.r§ urnover ratio (iv) Operating Ratio.
L‘ML\ Amount (Rs) Assets
Cl_'edltors 20,000/- Cash in hand 15,380/-
Bills payable 12,750/- Trade Creditors 11,260/-
Debentures 1,00,000/- Stock on hand 56,160/-
Reserves 67,250/- Fixed asset 2,17,200/-
Share Capital 1,00,000/-
Net sales- Rs.1,80,000/-
Net profit- Rs.16,000/-
Gross Profit- Rs.40,000/-
9\.\’\
I HOD
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